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SECTION -A
i) General Awareness

1. 'Operation All Clear' is associated with 6. Recently which of the following banks
the armed forces of which country? are merged to become a India's third
(A) Nepal largest bank?

(B) Bhutan (A) Bank of Baroda, Oena Bank and
(C) Bangladesh Syndicate Bank

(0) Maldives (B) Dena Bank, Syndicate Bank and
State Bank of India

(C) Bank of Baroda, Oena Bank and
Vijaya Bank

(0) None of the above

MKG-XxlxrrecHIMw/1 T/05

2. When did the women in
right to vote?
(A) 1776
(B) 1920
(C) 1802
(0) 1815

U.S. get the

3. Who is the first Chairman of the People's
Republic of China?
(A) Mao Zedong
(B) Xi Jinping
(C) Jiang Zemin
(0) Hu Jintao

4. What is the line that separates North
Korea from South Korea ?
(A) 39th parallel
(B) 35th parallel
(C) 38th parallel
(0) 34th parallel

5. Name the Indian National Congress
(INC) Session that led to the division
between extremists and moderates.
(A) Surat, 1907
(B) Lucknow, 1916
(C) Nagpur, 1920
(0) Haripura, 1938

-2-
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7. In which year was the State of Nagaland
formed?

(B) 1961

(0) 1960

(A) 1963

(C) 1962

8. How many people were receive the
Bharat Ratna in 2019 ?

(A) 9

(C) 5

(B) 6

(0) 3

9. Who was the editor of 'Young India'
journal?

(A) Raja Ram Mohan Roy

(B) Annie Besant

(C) Mahatma Gandhi

(0) Balagangadhar Tilak

10. 'Dharrna Guardian - 2018', a first ever
joint military exercise of India with which
of the following country ?

(A) Nepal (B) Bhutan

(C) Japan (0) China
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1. '3'\Tq{~H3'Iffi ~' ~ ~ cfiT~ 6. mB 1ft -ijfcfi;r (ft;r~ en1~ ~ mm
~ IDU Ml1m ~ ? cfinftwr ~ ~ ~ tiHT ~ ?
(A) ~ (A) ~m~, ~ ~ ~ fB41Cf;C::
(8) ~ ~

(C) iSfiJ(1I~~1 (8) ~~, fB41Cf;C:: ~ ~ ~ m
(0) ql(1i!)CI({ ~

2. ~-ij~3iTen1mRR~~ (C) ~m~,~~~~
~fiKvrr? ~

(A) 1776 (O) "3<ffl-ijU~ ~
(8) 1920
(C) 1802
(0) 1815

\
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3. ~ ,iF1ClI<ft JIORI'5'!l ~~ 3'\'Q.f8.l~~?
(A) m~~
(8) m ~9JfCiJI

(C) milT~
(O) {~~

4. "3WCfilftm en1m'~Cfilftm U 3'\WT Cfi8
cnffi ~ ~ ~l1P·F<:rT~ ?

· .
(A) 39CfH'lql"lld(

· .(8) 35 CfTfIliHld(
· .

(C) 38 CfT'8l'1l9Jld(
· .

(0) 34 CfT'8l'1l9Jld(

5. ~~~GITG~u$~~-
~~~-ij~ml1m?
(A) ~,1907
(8) (1@+£, 1916

(C) ~,1920
(0) ~,1938
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7. ""J"8:s~cfiT ~~Cfff-ij~?

(A) 1963 (8) 1961

(C) 1962 (0) 1960

8. Cfff2019 -ij~ m en1m«f uq ~
fcfi<:rr l1m ?

(A) 9

(C) 5

(8) 6
(0) 3

9. '~~'~~eqIG&i~~?

(A) ~ wr ~ U<:r

(8) ~~

(C)~~

(0) ~~~

10. '~J"~<H - 2018', mm~~~
~ ~ RJO"lIf1Rsid-iju~~~~
~3lT ?

(A) ~

(C) \lfT'Y'H
(8) ~
(0) ':r.ft;f
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11. Parliament (Legislature of the Union), 16. Who is the Supreme Leader (Ayatollah)
consists of which of the following? of Iran?
(A) ~esident and Loksabha only (A) Ruhollah Khomeini
(B) President, Loksabha and State (B) Ali Khamenei

Legislative Assembly only (C) Hassan Rouhani
(C) President,LoksabhaandRajyasabha (D) Javed Zarif

only
(D) None of the above 17. Which neighbouring country of India is

also referred as 'Druk VuI' ?
12. CAG of India is appointed by whom? (A) Nepal (B) Myanmar

(A) President of India (C) Sri Lanka (D) Bhutan
(B) Prime Minister of India
(C) Lok Sabha Speaker 18. The Laccadives, Minicoy and Amindivi

group of Islands were renamed as
(D) None of the above Lakshadweep in which year?

13. Whichcountryhas inauguratedSoutheast (A) 1973 (B) 1971
Asia's largest solar power farm? (C) 1970 (D) 1972
(A) Myanmar

19. Which is India's first and only tri-service
(B) Cambodia theatre command of the Indian Armed
(C) Thailand Forces?
(D) Vietnam (A) Kochi

14. The annual 'Aryabhatta Award' is (B) Mumbai

presented for which field? (C) Karwar

(A) Medicine (D) Andaman and Nicobar

(B) Astronautics 20. Consider the following statement about
(C) Astrology IMD world competitiveness ranking
(D) Mathematics 2019.

(A) India ranks 2nd in the list, by this
15. Which of the following rulers introduced India became most competitive

"Rupiya" in India? economy in the world
(A) Akbar (B) Singaporehas rankedas theworld's
(B) Allauddin Khilji most competitive economy
(C) Humayun (C) Both option A and B are correct
(D) Sher Shah Suri (D) None of the above
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11. ~ (~ml'"llis(1) RJO'"Ik1R9(l.q B ~~ ~~ (3'I<4lgttll) ~t?16.
~er-n~ ? (A) ()i1R1m~
(A) (ltSS:qij)3fu: <1ICfl'l1'm~ (B) 3ttft~
(B) (ltSS:qdl, cllCfl'l1'm3fu:~ml'"lli'$(1 (C) ~~

~ (0) ~~
(C) (ltSS:qij),<1'ICfl'l1'm3fu: ~ ~
(0) "3CR'f.qB m ;ffiT 17. ~~~~~Cf)) '~~' ~Cfim

~~?
12. ~~ GAG e#iTR~f(ffl ~Cfi«fT~? (A) ~ (B) "RfTlrn:

(A) ~ CfiT(ltSS:qrn
(C) ~ (0) WR

(B) ~CfiT~
(C) ctlCfl'l1'm~ 18. ~ crtf 8CflI~q, f?lRCflT<43fu: 3'l41'"l~f4
(0) 3q1Cffl.q B m ~ m ~ ~ ~ CfiT';nll cilG(1Cfl("ct"a;rm

Gf&lOT-~ ~CfiT~~~~
fct;m ll<IT ?

13.
~~~ 3~€lI&i fct;m? (A) 1973 (B) 1971

(A) ~
(G) 1970 (0) 1972

(B) Cflian~<41 19. ~B~Ut ~mrofB;ne#iT~
(C) ~ ~ tJ:Cfll4I5lf5r-mrr~~~?
(0) otn~G'"IIl4 (A) ~

14. crWiCfl '~T'fCfll(' ~ ~.q~fcfim (B) ~

~~? (G) CfiT(CI"R

(A) ~ (0) ~ 3fu: RcilcilR

(B) ~ 3'l1{~¥) ~~mrr 2019
(C) \iR:tI rn6ll

20.
~GTit.q RJO'"Ik1R9(l~1R~~ I

(0) lTfUrn
(A) ~ ~ ~ .q ~ ~ 1R ~ 3fu:

15. RiO'"If~fu4(l .q B ~ ~ ~ ~ .q ~~~.q~~

"~" e#iT~31Rf e#iT? ~~~~

(A) ~ (B) ~CfiT~cfiT~~

(B) 3'lR113~'"I ~ ~ CfiT~ Wn ll<IT ~

(C) ~ (G) ~ A 3fu: B Gl;IT ~ ~
(0) ~"@ (0) "3CR'f.qBm~
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ii) General Intelligence and Reasoning Ability

21. 186x 186 + 159 x 159-2 x 186 x 159=?

(A) 729

(8) 1039 ~

(C) 2019

(0) 7029

22. 138.009+341.981-146.305= 123.6+?

(A) 120.085

(8) 120.85

(C) 220.085

(0) None of these

23. The value of (68.237)2 - (31.763)2 is

(A) 3.6474

(8) 36.474

(C) 364.74

(0) 3647.4

24
(0.6)4 - (0.5)4 .

. IS equal to
(0.6)2 + (0.5)2

(A) 0.1

(8) 0.11

(C) 1.1

(0) 11

(36.54)2 - (3.46f = 4025.
?

(A) 3.308

(8) 4

(C) 33.08

(0) 330.8

-6-

26. If 45 - [28 - {37 - (15 - *) }] = 58, then *
is equal to

(A) - 29

(C) 19

111
27. If "3 + 2" + x = 4, then x = ?

5
(A) 18

6
(8) 19

(C) 18
5

(0) 24
11

28. Two-fifth of one-fourth of three-seventh
of a number is 15. What is the half of
that number?
(A) 94
(8) 96
(C) 196
(0) None of these

29. Choose the number pair/group which is
different from others.

(A) 1(5)2

(C) 2(20)4

(8) - 19

(0) 29

(8) 7(113)8

(0) 3(17)4

30. If a + b + c =13, a2 + b2 + c2 = 64, then
find ab + be + ca.

(A) - 50

(8) 50
(C) 69

(0) 75
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21. 186x 186+ 159x 159-2x 186x 159=? 26. ~ 45 - [28 - {37 - (15 - *) }] = 58, (f) *
(A) 729 ~%
(8) 1039

(A) - 29 (8) - 19
(C) 2019

(C) 19 (0) 29(0) 7029
1 1 1

22. 138.009 + 341.981 - 146.305 = 123.6 + ? 27. ~ -+-+-=4 (f) x=?
3 2 x' .

(A) 120.085
(A)

5-(8) 120.85 18
(C) 220.085

(8) 6
-

(0) ~~~~ 19

(C)
18
-

23. (68.237)2 - (31.763)2 CfiTl1R % 5

(A) 3.6474 (0) 24-
(8) 36.474 11

(C) 364.74
~~~%~ ~ CfiT%15%1~28.

(0) 3647.4
~~31mT~%?

(0.6)4 - (0.5)4
(A) 9424. (0.6)2 + (0.5)2 ~ %
(8) 96

(A) 0.1 (C) 196

(8) 0.11 (0) ~~~~

(C) 1.1 29. ~~~~~~Cfl1~1

(0) 11 (A) 1(5)2 (8) 7(113)8

(36.54}2 - (3.46)2 (C) 2(20)4 (0) 3(17)4
25. =40

? 30. ~ a + b + e =13, a2 + b2 + c2 = 64, (f)

(A) 3.308 ab + be + ea mo~ I

(8) 4 (A) - 50

(8) 50
(C) 33.08

(C) 69
(0) 330.8 (0) 75

-7-
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31. A total of 324 coins of 20 paise and
25 paise makes a sum of Rs. 71. The
number of 25 paise coins is

(A) 120

(8) 124

(C) 144

(0) 200

32. If 3a = 4b = 6c and a + b + c = 27m
then .Ja2 +b2 +c2 is

(A) 3m
(8) 81
(C) 87

(0) None of these

33. The average of 2, 7, 6 and x is 5 and
the average of 18, 1, 6, x and y is 10.
What is the value of y ?

(A) 5 (8) 10

(C) 20 (0) 30

34. Three-fourth of a number is 60 more

than its one-third. The number is

(A) 84

(8) 108

(C) 144

(0) None of these

35. If 5x + 3 = (25)3x - 4, then the value of x
is

(A) 5
11

11
(8) 5

(C) 11
3

13
(0) 5

-8-
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36. The ratio 5 : 4 expressed as a percent
equals

(A) 12.5%

(8) 40%

(C) 80%

(0) 125%

37. If P % of P is 36, then p is equal to

(A) 15

(8) 60

(C) 600

(0) 3600

38. If A = 8 = C , then A : 8 : C is
345

(A) 4: 3 : 5
(8) '5: 4 : 3

(C) 3: 4: 5

(0) 20:15:2

39. The area of a right angled triangle is
40 times its base. What is its height?

(A) 45 cm

(8) 60 cm

(C) 80 cm

(0) None of these

40. One side of a right angled triangle is
twice the other and the hypotenuse is
10 cm. The area of the triangle is

(A) 20 cm2

1
(8) 33scm2

(C) 40 cm2

(0) 50 cm2
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31. 20~ 3fu:25~ ~ 324 ~q;r~ 36. ~ 5 : 4 q;) ~ >rRrw -ij ~ Cfit
1./llr~.71 ~ 125 ~~~cfiT~~ (A) 12.5%

(A) 120 (B) 40%

(B) 124 (C) 80%

(C) 144 (0) 125%

(0) 200
~p q;rp%36t -aTp~~37.

32. ~ 3a = 4b = 6c 3fu: a +b + c = 27129 (A) 15

-aT~a2 +b2 +c2 ~ (B) 60

(A) 3129
(C) 600

(B) 81 (0) 3600

(C) 87 A B C
(0) ~~~~

38. ~3=4=5'-aTA:B:C ~

33. 2, 7, 6 3fu:x q;r ~ 5 ~ 3fR:18, 1, 6, x
(A) 4: 3: 5

3fu:yq;r~10~ 1 yq;r~cp;rr~?
(B) 5: 4: 3
(C) 3: 4: 5

(A) 5 (B) 10
(C) 20 (0) 30 (0) 20:15:2

39. ~ B~<ilol ~ q;r ~ ~ 3lmR ~34. ~ ~ q;r (ft;r T.j)~ ~ ~ ~ ~

60~~1~~ 40~~ I~~cp;rr~?

(A) 84
(A) 45 cm

(B) 108
(B) 60 cm
(C) 80 cm

(C) 144
(0) ~~~~

(0) ~~~~
40. ~ B~c:NOI ~ cfiT~ ~ ~ cfiT~

35. ~ 5x+3 = (25)3x-4, -aTxq;r~~ ~ 3fu:CfiOT 10 cm~ I~q;r ~~

5 11 (A) 20 cm2

(A) (B) - 1 2- 511 (B) 333cm

(C) 11 13 (C) 40 cm2(0) -- 53 (0) 50 cm2

-9-
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iii) Arithmetical and Numerical Ability

41. The ratio in which tea worth Rs. 10 per 45. A seller makes an offer of selling certain
kg be mixed with tea worth Rs. 14 per articles that can be described by the
kg, so that the average price of mixture equation x = 25 - 2y where 'x' is the
may be Rs. 11 per kg is price per unit and y denotes the number
(A) 2: 1 of units. The cost price of the article is

(8) 3: 1 Rs. 10 per unit. The maximum quantity

(C) 3:2 that can be offered in a single deal to
avoid loss is(0) 4:3
(A) 6

42. If x = ya, y = zb, z = XC then abc = (8) 8

(A) 2 (C) 7

(8) 1 (0) 9

(C) 3 46. A person borrows Rs. 5,000 for 2 years
(0) 4 at 4% per annum simple interest. He

~6+~6+.J6+ .... is
immediately lends to another person at

43. The value of 6%% p.a. for two years. His gain in the
(A) -3 transaction per year is
(8) 2 (A) Rs.112.50
(C) 3 (8) Rs. 125
(0) 4 (C) Rs.225

(0) Rs.167.50
44. A man rowing a boat at the rate of 5 km

per hour in still water takes thrice as
much time in going 40 km up the river
as in going 40 km down. The rate at
which the river flows is

(A) 2.5 km/hr

(8) 10 km/hr

(C) 1.2 km/hr

(0) none of these

47. 5 bulbs of which 3 are defective are to be
tried in two light points in a dark room.
In how many ways the room shall be
lighted?

(A) 7

(8) 10

(C) 3

(0) none of these

-10-
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iii) ,ai4)".fG.fi)(OI ~ f4{§ell('&j4) (;11.(01(1.

41. ~ ~~~. 10>JffifmTcf;T~CfiT 45. ~~~~CfiT~if;~~~
~.14 >JffifmTcf;T~if;~ ~(1I;q1 ~ ar.nm~ ~ B41Ch{OI x = 25 - 2y "B"qfUfu
.f4~CfiT 3fum~~. 11 >JffifmT fcfi<.rr\lIT ~ ~ ~ 'x' >Jfcf~ ~ ~ 3fu:m~ y ~6flI~'41cf;T~~~ I~CfiT$fi<:f~
(A) 2: 1 ~. 10 >Jfcf~ ~ I mf.t "B"GfT.R if; ~ ~
(8) 3: 1 ~ -ij<ft\lIT ~~ ~ 1IDTT ~
(C) 3: 2

(A) 6
(0) 4: 3

(8) 8

42. ~ x = ya, y = zb, Z = XC aT, abc = (C) 7

(A) 2 (0) 9

(8) 1
46. ~ o;qfcffi ~. 5,000, 2 qrf if; ~ 4% >Jffi

(C) 3
qrf~~"tR~Bm~ I~~

(0) 4 ~ ~ o;qfcffi CfiTm qrf if; ~ 6%% >Jffi

~6 + ~6 + ~6 + .... CfiTllH~
qrf "tR~ ~ ~ ~ I "3BCfiT ~ ~ -ij>Jffi

43.
qrf~~

(A) -3
(A) ~. 112.50

(8) 2

(C) 3 (8) ~. 125

(0) 4 (C) ~.225

44. m~ -ij5 M >JffitkJcf;T~"tR ~;nq (0) ~. 167.50

'qffi W ~ o;qfcffi CfiT~ if; ~ cf;T~
47. 5~,~"B"3~t~~~~~ fcJq-fur 40 M -;r<ft-ij~ -ijcwrn 3lH

-ijm~~3TI-ij~~~ I~CfiT
cf;T~~nfH ~ w:p:nTllOT~ l-;r<ftif; ~ '"
cf;T~~ ~ >ICfiR"B"SlCflI~Id fcfi<.rr\lIT ~ ~ ?

(A) 2.5 M jtkJ (A) 7

(8) 10MjtkJ (8) 10

(C) 1.2 M jtkJ (C) 3

(0) ~"B" ~-;fflf (0) ~"B" ~-;fflf

-11-
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48. The sum of all natural numbers between 51. If a train of length 400 m travelling at

100 and 1,000which are multiplesof 5 is a speed of 45 km per hour can cross

(A) 98,450 a platform in 40 seconds, the length of

(8) 96,450 the platform should be

(C) 97,450 (A) 120 m

(0) 95,450 (8) 150 m

49. In a group of 70 people, 45 speak (C) 50m

Spanish, 33 speak English and (0) 100m

10 speak neither Spanish nor English.

The number of people who can speak 52. The ratio of the speeds of x, y and z is

in both Spanish and English is 3 : 4 : 6. The ratio of the time that they

(A) 13 take to travel a certain distance is

(8) 19 (A) 4:3:2

(C) 18 (8) 3:4:6

(0) 28 (C) 6:4:3

50. If a sum of money doubles itself in (0) 2:3:4

1oyearsatacertain rateofsimple interest;
53. In a kilometer race, A beats 8 by 250 m.

the number of years it would becomes

5 times itself is
The ratio of speeds of A and 8 is

(A) 50 years (A) 3:4

(8) 40 years (8) 4:3

(C) 45 years (C) 5:4

(0) none of these (0) 4:5

-12-
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1003fR 1,000~~~ $1I~RtCfl~3TI ~ ~ 400 lftcJ: ~ {(1JII>4l ~ 45 M48. 51.

Cfil~~5~~~ >rffi ckr cfITTTRr B ~ ufT t~c#lC;q;T4

cit 40 ~ -ij 'IT{ ~ ~ ~ m, c#lc;q;T4(A) 98,450

(8) 96,450 cfIT~ ir.ft~ I

(C) 97,450 (A) 120 m

(0) 95,450 (8) 150m

70m~~~-ij, 45~, 33~
(C) 50 m

49.

~~3fR10~m~3fR~tt~
(0) 100m

~~ l"3;rmcfIT~~~3fR 52. x, y 3fR z cfITTTRr Cfil~ 3 : 4 : 6 ~ I
~G'RT~~~ ~ R~(1 -m cit ~ 'Cfl8 -ij ~ IDU ~

c-,

(A) 13 ~qffi~Cfil~~

(8) 19 (A) 4: 3 : 2

(C) 18 (B) 3: 4: 6

(0) 28 (C) 6: 4: 3

50. ~~"Ufu 10~-ij~~~~
(0) 2: 3 : 4

R~(1 ~\R~m~~m, Cf6~ ~ fCt:l<1I41C;{~ -ij, A, 8 cit 250 lftcJ: B53.

~ -ij 31tRt ~ -q'fq ~ m ~ ? 6U ~ t A 3fR B cfITTTRr Cfil~ ~

(A) 50~ (A) 3: 4

(B) 40~ (B) 4: 3

(C) 45~ (C) 5: 4

(0) ~ B ~-;fflf (0) 4: 5

·13·
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54. 10 boys or 20 girls can complete a job in
57. If JX2 -2x-3 +Jx2 +5x-24 =

10 days. The number of days in which

10 boys and 20 girls complete the same JX2 + 7x-30, then x =

work is (A) 2

(A) 4 days (8) 3

(8) 5 days (C) 4

(C) 6 days (0) none of these

(0) 7 days 58. The common root of x2 + 10x + 24 = 0 and
x2 + 14x +48 = 0 is

55. Two men undertake a job for Rs. 960. (A) -6

They can complete it in 16 days and (8) 6

24 days. They work along with a third (C) -8

man and take 8 days to complete it. (0) -4

Find the share that the third man should

get (in rupees). 59. If ( X2 + x~ ) - 4 ( x +~)+ 23 =0

(A) 200
x 4 '

(8) 150 what can be the value of
1

x+- ?
x

(C) 160
-3

(0) none of these (A) - (8) 2
2

56. The area of a play ground is 153 m2.
~ %If the length of the play ground is

(C) (0)

decreased by 4 m and the breadth 60. If 42x + 1 + 4x + 1 = 80, then the value of
is increased by 4 m, the playground xis

becomes a square. The length of side (A) 1
of the square field is (8) -1(A) 11 m

(8) 12 m 1
(C) -

(C) 13 m
2

(0) 14 m (0) 2

-14-
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10 ~(;fT 20 ~1'$Ph4i~CfiT<f CfiT 10 ~ 57. ~ ~X2 -2x-3 +~X2 +5x-24 =54.

-ij~~~i 1~c€T~~~
~X2 + 7x-30, oT x =

10 ~ 3fu: 20 ~~Ph4i ~ CfiT<f CfiT ~

~ (A) 2

(A) 4 w.r (8) 3

(8) 5 w.r (C) 4

(0) ~~~~(C) 6w.r

(0) 7w.r 58. x2+ 10x+ 24 = 0 3fu:x2+ 14x+ 48 = 0CfiT

~~%
55. GT ~ ~ CfiT<f CfiT ~. 960 -ij~ i I

(A) - 6
~ ~ 16 fu;n 3lR 24 fu;n if W CR wffl ~ I

(8) 6
~ ~ <fu:it ~ CfiT ~ ~ i 3fu: ~

(C) -8
8 ~ -ij~ ~ i I <fu:it 3llGlft CfiT ~

(0) -4
QI~ql~1 'm1TWO<R (m-ij)

(A) 200 59. ~ ( X2+ x~) - 4 (x + x1) + ~ = 0,

(8) 150
1

(C) 160 x + - CfiTl1R cfGfT'm~ %?
x

(0) ~~~~
(A)

-3
(8) 2-

2
56. ~~CfiT~CfiT~ 153m2% I~

~CfiT~c€T~ 4 mt0tt~3fu: (C) % (0) %
~ 4m~tt~oT, ~CfiT~

~qrf~~% I qJITCflRmc€T ~c€T 60. ~ 42x+ 1 + 4x+ 1 = 80 oT, x CfiTl1R %
~%

(A) 1
(A) 11 m

(8) 12 m (8) -1

1
(C) 13 m (C) -

2
(0) 14m

(0) 2

-15-
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71. ~~'3'QB1f, ~<IT ~~~~ 76. 'fn:'fcnfr~CfiT~%, ~~-qm
~~t'3B ~~~I mwr% I
(A) ~ (A) ~
(8) ~ (8) ~ e-,

(C) ~ (C) -q;mft
(0) ~~~;rtf (0) ~~~;rtf

72. ~-:cm~-q~~~~CfiT
77. ~~(~)CfiT~t

~ 3GIt\{OI% ? ~M~~3Wt~~~~
(A) ~ "5lGHCfi@T% I
(8) ~ (A) ~
(C) K-=r

(8) ~
(0) ~ (C) ~~

73. ~~~cfiT~ ~I (0) ~~~;rtf
(A) 20

78. ~CJUIT~~~ ?t~cw'ifcrcfiR~(8) 25
~~I(C) 19

(0) 21 (A) ~ (8) wm1

(C) ~ (0) ~
74. ~+3lfq=

(A) ~ 79. m BCfOf BR ~i:.1Cfl{ ~m

(8) ~ ~~I

(C) ~ (A) ~ (8) <fttf

(0) ~ (C) ~ (0) ~

75. '3'QB1f'31' <IT'3H' CfiT~ % 80. BR~~~~~?

(A) ;rtf (A) ~

(8) ;mm (8) m
(C) ~ (C) ~

(0) ~~~;rtf (0) (fH

-17-



v) English Language and Comprehension

~~~~
Read the following sentences and identify the 87. In today's competitive world/even small

grammatical errors, if any. Select the letter (A) (8)

corresponding to the erroneous part as your businesseslhad better advertised onT.v. in'
answer.

MKG-XXIXITECHIMW/1 T/05

81. The teacher said / that either of these/

(A) (8)

methods are applicable /to solve this

(C) (0)

problem.

82. Meera did not / take driving /

(A) (8)

lessons; she/ taught her own.

(C) (0)
83. The children/have been playing/since/

(A) (8) (C)

two hours.

(0)

84. He was not only insincere/ in his duties!

(A) (8)

so also/ highly incompetent.

(C) (0)

85. I like / the way Ramesh/ makes his son/

(A) (8) (C)

to do his homework neatly.

(0)

86. I was /displeased/at your/coming late.
(A) (8) (C) (0)

-18-
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(C)
order to be able to compete effectively.

(0)

88. The prices of /basic commodities raised!

(A) (8)

considerably/ due to inflation.

(C) (0)

89. Apologizing for / your misconduct' is the

(A) (8)

only way/ to escaping punishment.

(C) (0)

90. If I / am you! I would stop/ talking to her

(A) (8) (C) (0)

91. The counsellor /asked me if/I would/

(A) (8) (C)

mind to wait.

(0)

92. I think/you should/let your hair/to grow.

(A) (8) (C) (0)
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Add suitable relative clauses for the following Select the grammatically erroneous sentence
questions from among the choice given below from among the choices given below each
them. question.

97. (A)
93. Sheila couldn't come to the party,

(B)
was a pity.

(A) that (B) it (C)
(C) what (0) which (0)

94. Someof the people to the party
can't come. 98. (A)

(A) inviting
(B)

(B) invited

(C) who invited (C)

(0) they were invited
(0)

Fill in the blanks with suitable passive form
of the verb from the alternatives given below
them.

95. There's somebody walking behind us.
Ithink _

(A) we are following

(B) we are being followed

(C) we are followed

(0) we are being following

96. We by a loud noise during
the night.

(A) woke up

(B) are woken up

(C) were woken up

(0) were waking up

-19-

Which of the phrases given below should
replace the phrase underlined in the following
sentences to make it meaningful and
grammatically correct ?

99. She is the person who teach me
French.
(A) teached
(B) taught
(C) were teaching
(0) had teached

I have been crying since morning.
I am thinking of buying a new
cellular phone.
Where can I find the principal?
We visited Taj Mahal the previous
year.

Besidecooking food, the volunteers
fed the children.
Can I find a University student in
this group?
The new bridge is under
construction.
I want a sheet of paper to draw
on.

100. Why you went out in that heavy rain
without an umbrella or a raincoat?
(A) do you went
(B) did you went
(C) did you go
(0) you gone



SECTION - B
Post Specific Subject - Related Questions

Slow increase in strain of metals under 106. High carbon steel contains

a constant stress is known as (A) 0.15 % of carbon

(A) creep (B) 0.15 to 0.3% of carbon

(B) fatigue (C) 0.3 to 0.8% of carbon

(C) endurance (0) 0.8 to 1.5% of carbon

(0) none of the above

MKG-XXIXlTECHIMW/1 T/OS

101.

102. In Rockwell hardness test major load on

scale B is

(A) 100

(C) 120

(B) 60

(0) 150

103. Oelta(8) iron occurs at temperature of

(A) room temperature

(B) above melting point

(C) between 1404°C and 1539°C

(0) between 900°C and 1400°C

104. The metallic structure of iron is

(A) body centered cubic

(B) face centered cubic

(C) hexagonal close packed

(0) cubic structure

111111111Wlllm UIIIIIIII~lllllllllllllmll.IIIIIIIIIIIIIHIIIIIIIIIW~1 m1110I1111111

107. Cyaniding is the process of
(A) dipping steel in cyanide bath
(B) reacting steel surface with cyanide

salts
(C) adding carbon and nitrogen by heat

treatment of steel to increase its
surface hardness

(0) making corrosion resistance steel

108. Process of austempering results in
___ from Austenite.

(A) formation of bainite structure
(B) carburized structure
(C) marten site structure
(0) none of the above

109. The crystal structure of copper is
(A) F.C.C.
(B) B.C.C.
(C) H.C.P.
(0) None of the above

105. The percentage of carbon in grey cast 110.

iron usually varies between

(A) 0.1 - 0.5%

(B) 1 - 2%

(C) 0.3% - 0.9%

(0) 5 -7%

-20-

Babbit metal contains
(A) 85% tin, 10% antimony and

5% copper
(B) 75% tin, 10% antimony and

15% copper
(C) 65% tin, 20% antimony and

15% copper
(0) none of the above
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'qJlT - Gf
~~mfQ;Ch~-~~

101. ~~GFif~ ~ ~3lt~ fuj'CIlq.q 106. ~~w.niffi.q mor~ I

tih:fi ~ Cfl6(11d1 ~ I (A) ~"CflT 0.15%

(A) ~ (8) ~"CflT 0.15 U 0.3%

(8) ~ (C) ~"CflT 0.3 U 0.8%

(C) (16"'1ltft(1dl (0) ~"CflT 0.8 U 1.5%

(0) "3Cffi.qU~-;fflf 107. (11~"'II~:g ~~~ I
(A) (11~"'II~:g.q~~

102. ~ Cfi61<dl 'qft~.q ~ 8 ~ ~ (8) ~"TO"CflT (11~"'II~:g ffiUIT ~ ~
~~ ~

(A) 100 (8) 60 (C) ~ Cfldl<dl ~~~~~~
(C) 120 (0) 150 "3tfT.fRIDU~ ~ "'I1~<il>;iH~(1HI

(O)~~~
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111. Case hardening is the only method 116.

suitable for hardening

(A) high alloy steel

(8) high carbon steel

(C) low carbon steel

(D) high speed steel

Forces are concurrent when there lines
of action met in

(A) One point

(8) Two point

(C) Plane

(D) Different planes

113. Normalizing operation of component is 118.
cooled in

112. The effect of alloying tin and copper is to

(A) raise hardness

(8) to impart free machining properties

(C) to improve corrosion resistance

(D) to increase strength and ductility

(A) Furnace

(C) Water

(8) Air

(D) Oil

114. High speed steel belongs to category of

(A) low carbon steel

(8) medium carbon steel

(C) high carbon steel

(D) alloy steel

115. White metal contains of

(A) nickel and copper

(8) lead, copper and antimony

(C) tin, lead, chromium

(D) malleable cast iron and silver

-22-

117. The weight of the body is due to

(A) Centripetal force of earth

(8) Gravitational pull exerted by the
earth

(C) Force of attraction experienced by
particle

(D) Force of attraction towards the
centre of earth

D' Alemberts principle is used for

(A) reducing the problem of system of
forces to equivalent statics problem

(8) determining stresses in the truss

(C) stability of floating bodies

(D) designing safe structure

119. Two non collinear parallel equal forces
acting in opposite direction

(A) balance each other

(8) constitute a moment

(C) constitute a couple

(D) constitute a moment of couple

120. Moment of inertia of a circular area
about an axis perpendicular to the area
is

(A) 11" d4/32
(C) 11" d4/16

(8) 11" d4/64
(D) 11" d4/68
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111.

112.

113.

114.

115.

~ Cflil{)Cfl~ol "Cf))~ ~ ~

~ QOCflAI~3q~Cffl fcffu ~I

(A) ~fir~~~
(8) ~~~

(C) Fr8~~

(0) ~l"fRr~

R;r3fu:~"Cf)) ilI<1ICfl~fir~~ ~ ~
)Mlq~

(A) Cflol~(11~

(8) ~ A~ft;f)Cfl~ol fCI:ft~(1I~t.n
(C) ~OO~
(0) ~ 3fu:(pl(1'f ~

"1T4cl)Cfl~OIqf{T.lI<1"1# t:fCCfl "Cf)) #
~ft(1k1(1 fcnm ~ ~I

(A) ~ (8) ~

(C) ~ (D) ~

~l"fRr~ ~~#3lTdT~1

(A) Fr8~~

(8) ~~~

(C) ~~~

(0) fir~~~

m~ ~~mar~1
(A) ~3fu:~
(8) ~,~ 3fu:~i)A;f)

(C) R;r,~, sb)ilI""lA

(0) <1"C!I<1I~"ffim 3fu:~

-23-
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116. ~ '@1CRff6ffi ~ ~ fsf;7:rr ~ __
#~~I
(A) ~~lR

(8) ft~lR

(C) ~

(0) N;;r~

117. ~~~ ~CfiRUTmar~1
(A) '9:~~~~
(8) ~ IDUwnm ~qffi ~ f@:qjq

(C) q;ufIDU~fcfi<.rr~cm1T ~

~

(0) '9:~~~~31R~~

118. m'QOzV)kI~B~Wm ~~
mar~1
(A) ~ ctT stOlid) ~Af""ll CfiT ~At!)(Y""l

~~Bt:R:RT

(8) ~#~~~
(C) ~ RCflI41 ~ @.m;r

(D) wf!ffif ~ ~;JtI{"1 ~

119. GT ~ ~ ~AI"1i(1~ B11R ~ ~ ~
1mr3TI # Cfi'l'lf m ~
(A) ~ ~"Cf)) Bt!)k1(1 m ~
(8) ~ ~ GHffi ~

(C) ~ ~ GHffi ~

(0) ~~~~GHffi~

120. ~~*,ICflR~~~~"3B~~~
~~~~31R~

(A) 11' d4/32 (8) 11' d4/64

(C) 11' d4/16 (0) 11' d4/68
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121. The velocity of a body on reaching the
ground from a height h, is given by

(A) v = 2gh
(B) v = 2gh2 - u2

(C) V = ~u2 -2gh

(D) v = (h2 - u2 )/2g

122. Total time (t) of the flight of a projectile
on a horizontal plane is equal to
u = velocity of projection, a = angle of
projection

(A) t = (2u sin a) Ig
(B) t = (2u cos a) Ig
(C) t = (2u tan a) Ig
(D) t = (2u cot a) Ig

123. A body of weight W on inclined plane of
a being pulled a horizontal force p will
be on the point of motion up the plane
when p is equal to

(A) W cot (a + <1»

(B) W tan (a + <1»

(C) W sin (a+ <1»

(D) W cos (a + <1»

124. The c.g. of a trapezium of base b height h
and upper side a is given by

(A) h/3(2a+b/a+b)

(B) h/3(a+b/2a+b)

(C) h/2(2a+b/a+b)

(D) h/3(a+2b/a+b)

125. Centripetal force is given by if mass
m = wig
(A) 1/r (mv2) (B) Y2 m( v2/r)
(C) mv2/r (D) mv/r

-24-

IIIII III 111111I1111111111111III Inllll 1nl 11111~ 1I11I1111UIIIII~m 11111 11IIln nil 1111

126. An isosceles triangular section ABC
has base width 8 cm and height 6 cm.
Determine the moment of inertia of the
section about c.g. of the section.
(A) 48 ern" (B) 54 ern"
(C) 25 cm4 (D) 37 crrr'

127. The range of projectile is maximum
when the angle of projection is
(A) 45° (B) 30°
(C) 60° (D) 22.5°

128. Dynamic friction is the
(A) tangent of angle between normal

reaction and the resultant of normal
reaction and the limiting force

(B) ratio of limiting friction and normal
reaction

(C) the friction force acting when the
body is in motion

(D) the friction force acting when the
body is about to move

129. According to parallel axis theorem for
a plane area 'a', moment of inertia
about the axes AB and YY separated
by distance h

(A) lAB = IG+ ah2

(B) IG+ lAB = ah2

(C) IG/IAB= ah2
(D) lAB = IGI ah2

130. The c.g. of hemisphere lies on the
central radius
(A) at distance 3r/2 from the plane

base
(B) at distance 3r/4 from the plane

base
(C) at distance 3r/8 from the plane

base
(D) at distance r/2 from the plane

base
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121. ~~hit~1:R~1:R~~

CfiTWr

(A) v = 2gh
(B) v = 2gh2 - u2

(C) V = )u2 -2gh

(0) v = (h2 - u2 )/2g

122. ~~~"tR~'5l~~~CfiT~

~(t)~lu=~Wr, a=~~

(A) t = (2u sin a) Ig

(B) t = (2u cos a) Ig

(C) t = (2u tan a) Ig

(0) t = (2u cot a) Ig

123. ~ W crrBt ~ ~ Cfil a ~ '3;;re ~ 1:R

~~~p "IDU~\lfTuftt I~p
~~"l"fffi~~1:Rmm~ p~t

(A) w cot (a + <1»

(B) W tan (a + <1»

(C) W sin (a + <1»

(0) W cos (a + <1»

124. 3WW b~ h 3fu:~ ~ a CJTB~

~VCfiTc.g. t

(A) h/3(2a+b/a+b)

(B) h/3(a+b/2a+b)

(C) h/2(2a+b/a+b)

(0) h/3(a+2b/a+b)

125. ~~~iil"i m=w/g"ffi~~t
(A) 1/r (mv2) (B) % m( v2/r)

(C) mv2/r (0) mv/r

-25-
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126. ~ fliiffi:cill§ ~ ~ cm; ABC CfiT3mlR
8 cm. 3fu:~ 6 cm. t I CfiR:~ c.g. ~
~ 3W:CfiR:CfiT~ ~ ~ ~ I
(A) 48 ern" (B) 54 cm4

(C) 25 crrr' (0) 37 ern"

127. '5l~~~~mt t~'5l~
Cfilurt

(A) 45° (B) 30°

(C) 60° (0) 22.5°

128. JIRI:tftcl er.furt

(A) ~ $lRlRtllfl 3fu:~ q~oll4) 3fu:
eh"llCfiItl ~ ~ afTq OM :tfhsft If Cfilur

(B) «lii ICfiItl er.fur 3fu:~ $IRIRtllf I CfiT

~
(C) ~ ~ Jlrn:tAcl ~, <IT "tfliur ~

CfillfTR;la~ t

(0) ~~1lRr~ 31Hcm-ftir, m~GR1
CfillfiR;la ~ t

129. ~~~'a'~fliil"1ia{~~~
~ AB 3fu:yy wm~~h mu 31WT
t~~3W:~~t
(A) lAB = IG + ah2

(B) IG + lAB = ah2

(C) IG/IAB= ah2

(0) lAB = IG I ah2

130. ~CfiT c.g. ~~ _
1:R~t I
(A) ~ 3WW it 3r/2 <;ft 1:R

(B) ~ 3mlR it 3r/4 <;ft 1:R

(C) ~ 3lTm{ it 3r/8 <;ft 1:R

(0) ~ 3WW it r/2 ~ GtT 1:Re-,
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A tapered bar of length Ihas diameters
D and d at ends. If it is subjected to axial
load F, then the elongation produced
will be
(A) 4 plhrEDd
(C) 1I"Epi/Dd

131. If n = number of members and j = 137.
number of joints, then for a perfect
frame, n =
(A) j - 2

(C) 2j-3
(8) 2j-1
(D) 3j - 2

132. The value of modulus of elasticity for
mild steel is the order of
(A) 2 x 105 N/mm2

(8) 3.8 x 105 N/mm2

(C) 1.1 x 105 N/mm2

(D) 0.9 x 105 N/mm2

133. Modulus of rigidity is defined as the
ratio of
(A) longitudinal stress and longitudinal

strain
(8) volumetric stress and lateral

strain
(C) shear stress and shear strain
(D) none of the above

134. The value of Poisson's ratio for metal
varies between
(A) 0.01 to 0.1 (8) 0.23 to 0.27
(C) 0.25 to 0.33 (D) 0.4 to 0.6

135. The ability of material to absorb energy
before fracture is known as
(A) fatigue strength
(8) hardness
(C) toughness
(D) tensile strength

136. ___ is defined as the resistance of
the material to penetration or permanent
deformation.
(A) Strength (8) Hardness
(C) Toughness (D) Resilience
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(8) pl/E1I"d
(D) 1611"Epi/Dd

138. Section modulus Z is expressed as
(A) I/ymax (8) E/I
(C) El (D) M/I

According to Lame's equation, Hoop
stress (c) for a thick cylinder at any point
at a radius r from centre is equal to
(A) (b/r2) + a (8) (b/r2) - a
(C) (b/r) + a (D) (b/r) - a

139.

140. If a shaft of radius r and polar moment
of inertia J be subjected to bending
moment M and torque T, then maximum
shear is

(A) 28 / 1td3~M2 + T2

(8) 16/ 1td3~M2+ T2

(C) 1/ 1td3~M2 + T2

(D) none of the above

141. Find the modulus of elasticity for a rod
which tapers uniformly from 30 mm to
15 mm diameter with length of 350 mm.
The rod is subjected to an axial pull of
5.5 kN and possible extension of the rod
is 0.025 mm
(A) 2.178 x 105 N/mm2

(8) 3.78 x 105 N/mm2

(C) 1.56 x 105 N/mm2

(D) 1.78x105N/mm2
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131. ~ n = ~ cfiT~ 3fu: j = ~ cfiT
~,aT~~~~~, n =
(A) j - 2 (8) 2j - 1

(C) 2j -3 (D) 3j - 2

132. ~ ~ ~ ~i)T.I~n~dl ~ CfiT m;:r
____ ~ CfiT~ I

(A) 2 x 105 N/mm2

(8) 3.8 x 105 N/mm2

(C) 1.1 x 105 N/mm2
(D) 0.9 x 105 N/mm2

133. ~(fP:rI-qTq; ~ ~~ ~
-ij -qftmf~Rnmrr ~ I
(A) ~GlGl3fu:~~
(8) 3i14dRq1 GlGl3fu:~ ~
(C) ~GlGl3fu:~~
(D) ~-ij~~;@

134. ~~~~~CfiT1:fH __
~~~I

(A) 0.01 ~ 0.1 (8) 0.23 ~ 0.27

(C) 0.25 ~ 0.33 (D) 0.4 ~ 0.6

135. Wf~~~ 3iq~n~OI ~cfiT~cfiT
~ q1t:~ldl ~I

(A) ~-wffl

(8) q161{dl

(C) ~
(D) ~-wffl

136. 00 <IT ~ f4~qol ~ ~ CfiT~
~ ~ -ij _ q;) ~ fcfi4T \JfTOT~ I
(A) -wffl (8) q161{dl

(C) ~ (D) ~:Jt~lqZl
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137. I~ cfiT~ ~ ~ ~ <Xffi13i<r -q{ 0
3fu: d ~, ~Cffl" F ~ 1ffi~ ~~aT
(!)l:fq1{ol~

(A) 4 plhrEDd (8) pl/E1I"d

(C) 1I"Epl/Dd (D) 1611"Epl/Dd

138. CfiTc:~Z ~~-ij~
mm~1
(A) I/ymax (8) Ell
(C) El (D) M/I

139. ~ cfiTB41q1{ol~ ~, ~ ~ ~ r
=~-q{~llR~~~GlGl (cr)

(A) (b/r2) + a (8) (b/r2) - a
(C) (b/r) + a (D) (b/r) - a

140. ~~rCfiT~~3fu:~JCfiT
~~, ~ ~ M 3fu:ifcf; T~
~~, aT~~GlGl

(A) 28 I nd3 ~M2 + T2

(8) 16 I nd3~M2 + T2

(C) 1I nd3 ~M2 + T2

(D) ~-ij~~;@

141. ~ ~ ~ ~-4)~lqZl ~ WO ~ ~
350 mm ~ ~ ~ m~ 30 mm ~
15 mm<Xffi1oq;~WfH~~~cfiT
~~ 1~5.5kN~~~~
~ ~ ~ 3fu: ~ CfiT0.025 mm ~
f4fdRol ~

(A) 2.178 x 105 N/mm2
(8) 3.78 x 105 N/mm2
(C) 1.56 x 105 N/mm2

(D) 1.78x105N/mm2
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142. What is a isotropic material?

(A) elastic properties remain equal in
only one direction

(B) elastic properties remain equal in
2 direction

(C) elastic properties remain equal in
all direction

(0) none of the above

143. Maximum deflection in a beam supported
freely at both ends due to a central load
W at middle is

(A) - WL 3/48EI

(C) - WL 3/32EI

(B) - WL 3/96EI

(0) - WL 3/64EI

144. Bending moment in the centre of a beam
of length L firmly supported at both ends
and having a central load of W is

(A) WL (B) WU2
(C) WU4 (0) WU8

145. Slenderness ratio of a column is the
ratio of its

(A) length of least lateral dimensions

(B) length to radius of gyration

(C) lateral dimensions to radius of
gyration

(0) none of the above

146. Principal plane is one which carries

(A) no shear stress

(B) no normal stress

(C) maximum resultant of stresses

(0) no resultant of stresses

-28-

1111111111~lllmm 1llllllgllllllllIll~llllllmllllllllllllllllllllmlllllllll1111111111111111

147. The point of contraflexure is a point

where

(A) shear force is zero

(B) bending moment is zero after

changing its sign

(C) shear forces changes its sign

(0) bending moment is maximum

148. An overhang beam is

(A) same as cantilever

(B) not same as cantilever

(C) one which extends beyond its

support at either end

(0) none of the above

149. The volumetric strain in case of

thin spherical shell of diameter d

and thickness t subjected to internal

pressure p, having elasticity E and

Poisson's ratio !l

(A) ~~ (2 -1-1)

pd (1-1-1)
(C) 3tE

pd
(B) 2tE (2 -1-1)

(0) !~~(1-1-1)

150. Ratio of thickness to diameter for thin

cylinder is

(A) 1/5 to 1/10 (B) 1/10 to 1/12

(C) 1/15 to 1/20 (0) 1/20 to 1/30

151. A simple mechanisms has

(A) 1 link

(C) 31inks

(B) 21inks

(0) 41inks
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142. "Q,CFi{1liljCHffmqm~ ?
(A) ~ ~:fItfdl~~"Q,CFi~-ij~

~~

(8) ~~~ltfdl~2~3TI-ij~W(fi
~

(C) ~~~ltfdl~~~3TI-ij~

~~

(0) Tcffi -ij B ~ ~

143. Gft:q -ij "Q,CFi~ ~ W ~ CfiRUT~ -mu
'l{~~B~~~ muft-ij ~
~TkH~

(A) - WL 3/48EI (8) - WL 3/96EI

(C) - WL 3/32EI (0) - WL 3/64EI

144. ~ L ~"Q,CFi muft ~ ~ -ij ~ ~
~ W CfiT"Q,CFi~ ~ ~ 3fu: ~ ~

'l{~~~~31T~

(A) WL (8) WU2
(C) WU4 (0) WU8

145. "Q,CFi~CfiTqdMlq'"i~~ __
CfiT~~1
(A) ~ q If?cfCfifcmr3TI ~ ~

(8) ~B~~
(C) q IW<tCfifcmr3TI B ~ ~

(0) Tcffi-ijB~~

146. lj&:f~cm~~ mm~I

(A) ~ SlRiiStM~

(8) ~ SlRiiStM~

(C) SlRiiStffiCfiT~ qf{ollli

(0) SlRiiStffiCfiTqf{oll41 ~
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147. CflTrs;1tMCf!t(("f~f~cm~ ~ ~
'" '"

(A) ~~~~

(8) ~~~~~~~~

(C) ~~~~~

(O)~~~~

148. "Q,CFi~~ muft~

(A) ~ Ni ~~lffiMCfi ~

(8) ~~ffiMCfi ~ ~

(C) ~~3NrM-m-OO:B~~m

(0) Tcffi-ijB~~

149. cxm:r d 3fu: ~ tcnB ~ 10MICfiR3lIcRUT

~~-ij 3'l1~dRCfi~ ~~ p
~ ~~, ~ (.'11"C(!tAMdlE 3fu:~

~l-t~

(A) ~=(2 - u) (8) ~~ (2 - ~)

pd
(C) 3tE (1-~) (0) 3pd (1-'11)

4tE r-

150. ~B~~~cxm:rB~~

(A) 1/5 B 1/10 (8) 1/10 B 1/12

(C) 1/15 B 1/20 (0) 1/20B 1/30

151. "Q,CFi~ SlOIIR-p;i'i-ij ~ I

(A) 1 ~ (8) 2~

(C) 3~ (0) 4~
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152. A slider crank mechanisms is a special
case of

(A) 3 - bar mechanisms

(8) 4 - bar mechanisms

(C) 2 - bar mechanisms

(0) 6 - bar mechanisms

153. Kinematic pairs are those which have
two elements that

(A) have line contact

(8) have surface contact

(C) permit relative motion

(0) have dynamic forces

154. Relationship between the number of
links (L) and number of pairs (P) is

(A) L = 2P - 4 (8) L = 2P + 4

(C) L = P - 4 (0) L = 2P - 2

155. Hookes joint consist of

(A) two forks (8) one fork

(C) three forks (0) four forks

156. A flywheel connected to a punching
machine has to supply energy of 400 Nm
while running at a mean angular speed
of 20radls. If the total fluctuation of speed
is not to exceed ± 2%. Find the mass
moment of inertia in Kg - m2.

(A) 34 (8) 19

(C) 25 (0) 43

157. The height(h) of Watt Governor is
expressed as

(A) w2/g (8) gw2

(C) gw (0) g/w2
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158. For Hartnell Governor with equal arms
lift of the sleeve is given by as
(A) h1 = x/y( r1+ r)
(8) h1 = x/y(rc r)
(C) h1=x(r1+r)/2y
(0) h, = x(r1- r) /2y

159. Sensitiveness of Governor is defined
as
(A) range of speed/mean speed
(8) mean speed /range of speed
(C) mean speed x range of speed
(0) range of speed /2 x mean speed

160. The path of contact in involute gears is
(A) a straight line
(8) involute path
(C) curved line
(0) circle

161. Rankine theory (maximum principal
stress theory) of failure is applicable for
the following type of material.
(A) brittle (8) ductile
(C) elastic (0) tough

162. The equation for combined stress due
to Eccentric axial loading is given by
(A) PIA ± Pey/I (8) AlP ± Pey/I

(C) AlP (0) Pey/I

163. If a load W is applied instantaneously
on a bar of cross section A then the
stress induced in the bar in worst case
will be

(A) W/A
(8) W/2A

(C) 2(W/A)
(0) None of the above
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152. ~ fC!:;~"R1~cm?IT~ Slullfut<ii ~ __

CfiT~ ~ l1llR1T ~ I

(A) 3 - ~ Slullfut4i

(8) 4 - ~ Slullfut4i

(C) 2 - ~ Slullfut4i

(0) 6 - ~ Slullfut4i

153. !(!4Jlmcfl ~ ~ ~ ~ m 0Tcr -m ~
~

(A) ~~~

(B) ~~~
(C) uN~TffucfiT ~m
(0) Jlm!tft(?l ~ m

154. ~ cfiT~ (L) 3fu: ~ cfiT~ (P)
~~~~

(A) L = 2P - 4 (8) L = 2P + 4
(C) L = P - 4 (0) L:= 2P - 2

155. SCfi~~ ~~-m-~I
(A) m CfiR: (8) ~ CfikT

(C) (fR CfiR: (0) T.fR CfiR:

156. ~ ~ ~ ~ ~ ~ CR11~og)(?I~

400 Nm cfiT~ cfiT~ Cfi8Tmm ~ ~
Cffl 20~ /~ cfiT~m<ar ~Tffu
1R~"® ~ I ~ TffuCfiT~ "3(ffi-~

±2%~~~~m~~CfiT

~~ql"1 Kg - m2 ~~~ I

(A) 34 (8) 19

(C) 25 (0) 43

157. CJk~cfiT~ (h)Cfll ~~

~~~~~I

(A) w2/g (B) gw2

(C) gw (0) g/w2
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158. ~ ~ %n ~ ~ ~ ~~ilffi(?l"1
__ WU W:rr ~~ I

(A) h1 = xJy( r1+ r)

(B) h1 = xJy(r1- r)

(C) h1 = x(r1+ r) 12y
(0) h1 = x(rc r) 12y

159. ~ cfiT~ClG"1!tft(?ldl ~ ~ ~

~mm~1
(A) TffucfiT~/~Tffu
(B) ~ Tffu/Tffu ~ ~
(C) m<arTffux Tffu~ ~
(0) Tffu~ ~ /2 x~Tffu

160. ~fTr:R~~CfiT~~

(A) ~mmoo
(8) ~~
(C) ~oo
(0) ~

161. 3'I(1Cf)(?IdlCfiT~ ~ (~~
~~) RJ:"1futfuJd )ICfi"f\ ~ m ~
"ffi1imcrr ~ I
(A) ~ (B) . ep;r
(C) d~)(?I1 (0) ~

162. ~ 31~ ,:m: ~ CfiT"{UT~ ~ ~
(141Cfl{UI~

(A) PIA ± Pey/I (8) AlP ± Pey/l
(C) AlP (0) Pey/l

163. ~~,:m:W~CfiR:A~~~1R
Wownm~t m~~~~~~m~~
(A) W/A
(B) W/2A
(C) 2 (W/A)
(0) "3Cffl ~ ~ ~ ~
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164. Stress concentration is caused due to
(A) variation of load
(B) abrupt changes of the cross

section
(C) different environment condition
(0) none of the above

165. Maximum principal shear stress theory
is applicable for
(A) ductile materials
(B) brittle materials
(C) elastic materials
(0) none of the above

166. The efficiency of self locking screw is
(A) 60% (B) 90%
(C) 50% (0) 45%

167. When two springs of stiffness (K1 and ~)
are in parallel, the equivalent stiffness(K)
will be
(A) (K1 + K2)

(B) (K1K2) I( K1 + K2)
(C) (K1- K2)

(0) K1/K2

168. If P = bearing pressure, Jl = absolute
viscosity, N = speed of journal, then the
bearing characteristic number is given
by
(A) Jl NIP (B) PI Jl N
(C) Jl PIN (0) NI Jl P

169. A pair of worm gears is specified and
designated by four quantities as
(A) z1/z~q/m (B) z~z1/m/q

(C) m/z~z1/q (0) q/m/z1/z2

170. Width of key is usually taken as

(A) d/10 (B) d/6
(C) d/2 (0) d/4
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171. is the surface of which contains
the pitch lines of all teeth in bevel gear.
(A) Pitch cone
(B) Back cone
(C) Crown cone
(0) Mitre cone

172. Virtual number of teeth for helical gear
is given by
(A) z/cos2 'I'
(B) z/cos3 'I'
(C) z/cos 'I'
(0) none of the above

173. Which of the gear is used for
non-intersecting shaft ?
(A) helical gears
(B) worm gears
(C) hypoid gears
(0) herringbone gears

174. An involute14.5°gear should have
minimum of teeth.
(A) 12 (B) 8
(C) 16 (0) 32

175. The Wahl stress factor K for springs of
spring index is C is given by

(A) 4C -1 + 0.615
4C-2 C

C-4 C
(B) 4C-4 + 0.615

4C -1 0.615
(C) 4C-4 +-C-

4C-1 0.615
(0) --+--

C-4 C
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164. ~ m5\ffi ~ Cf)RUT'iRft % I

(A) ~-tTAAmrr
(8) ~ CfiR:CfiT3'11CflMCfl Gl<H.'1ICf

(C) imf q;qfCf{oA;q~

(0) "3Cffl~~~~

165. ~~cmR~~ __

~~~%I
(A) ~m
(8) ~m
(C) ~m
(0) "3Cffl~~~~

166. fCf(1l~ICfl{OI-q.:q -tT ~!il~dl %

(A) 60% (8) 90%

(C) 50% (0) 45%

167. ~cIT~~ Cfl6l{dl (K13lR K2) W"lHid(

~~, or elO"J~('4Cfldl{dl (K) m1ft
(A) (K1 + K2)
(8) (K1K2) I( K1 + K2)
(C) (K1- K2)

(0) K1/K2

168. <lfuP=~~'f.1=~~,N=~
-tTTfffi,or~~~%
(A) f.1NIP (8) PI f.1N
(C) f.1PIN (0) NI f.1P

169. ~ lIDfT3lT IDU ~ 3lR ~ ~
fiF.R: CfiT~ ~ %

(A) z1/ziq/m (8) ziz1/m/q

(C) m/ziz1/q (0) q/m/z1/z2

170. ~-tT~ ellO"Jl~d:_Bt~% I
(A) d/10 (8) d/6
(C) d/2 (0) d/4
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171. ~~%~~io1-tTm
~ ~ fTr:R~ 'iRft ~ I
(A) m~
(8) ~~

(C) ~~
(0) ffi&~

172. ~cllCflRfTr:R~~cfiT ~~%

(A) z/cos2 'P
(8) z/cos3 'P

(C) z/cos 'P
(0) "3Cffl~~~~

173. 1)( SlRt~(Fl ~ ~ ~-m fiF.R: ~
~%?
(A) ~'5R1d fTr:R

(8) ~fTr:R

(C) 61~qT~'5fTr:R

(0) ~f{J 1<Sf) '1 fTr:R

174. ~~ 14.5ofTr:R~~ c:o
~~I

(A) 12 (8) 8
(C) 16 (0) 32

175. ~ ~-qCfliCfl~~ C %g~ SlRtGl~CfiT{Cfl

K%
(A) 4C -1 + 0.615

4C-2 C

C-4 C
(8) 4C - 4 + 0.615

4C-1 0.615
(C) 4C-4 +-C-

4C -1 0.615
(0) --+--

C-4 C
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176.

177.

178.

179.

180.

181.

d'R1XfIUd ~~1XfIU D cnB~ ~:Sk1d
~ ~ ~ ~<ft:sCficqn: P q?r ~ ~ WT
~ 1 dWfiPfi-a-;r $IRi iiI~ ('t) %
(A) (2PDhrd3) K
(8) (4PDhrd3) K
(C) (8PDhrd3) K
(D) Tcffi-ijU~~

RAk1R9d -iju~-m~ ~~~
~~~~filCfidl~~% ?
(A) 14.5° e41~d~
(8) 14.5°~~~~
(C) 200~~~~
(D) 20°to~~

~ CfiRCfi Cs ~ ~ -ij
~mr%1
(A) G(ifCnd iiI~ll1?i/~ iiI~ll1?i
(8) ~ iiI~ll1?f/G(ifCnd iiI~ll1?i
(C) ~ iiI~ll1?il~ iiI~ll1?f
(D) Tcffi-ijU~~

~ < 20 m/s l:R qrt~lk1d ~ ~ ~
~~~ ~~~I
(A) 3/2 + v
(8) 6/6 + v
(C) 9/9 + v
(D) Tcffi-ijU~~

~cfiT~~Wffif~, ~~
___ ~~%I
(A) (D+d)/4
(8) 1/3 x (D3 - d3)/(D2 - d2)

(C) Y2 x (D3 - d3)/(D2 - d2)
(D) % x (D4 - d4)/(D2 - d2)

m~:s'"l m q)T~>fCfiR~ 1

(A) RCfiI«l m
(8) ~m
(c)~m
(D) Tcffi-iju~~
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183.

184.

185.

186.

187.

188.
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CflI4:m~l-ijv-~ __ ~~mm
%1
(A) im~~Cfi8
(8) ~ ~G(lq'"l ~
(C) ~~cfiTfcmT~
(D) ~ ~ qdJ\q'"l

I.S.0. ~ it ~~'"l~n~dI q)T __ ~
mm~1
(A) 18 (8) 24
(C) 16 (D) 32

~~~--~~~~
~~I
(A) ~ (8) IXfIU
(C) qd~lq'"l (D) m
~ Bl"iidfbl ~ 11T'R-h ~mm% 1 --- Q~

(A) ~qlGdl
(8) ~1f'O
(C) ~1f'O
(D) ~ ~ f4:q~'"l

__ ~~~fcmTcfiT~~
~~%I
(A) ~~
(8) ~~
(C) l1RCf)~
(D) Tcffi-ijU~~

~~ qf{q'~'"l-ij~ Cfil4TJldcfiTTfffi
cfiT.~-ij~% ?
(A) ql{qf(Cfi
(8) ~fmWT
(C) CR11~kI
(D) ~fmWT
ql{0GCfl~~it"Tf<f~m~~ 31H
~t Cfi~~ldl ~ 1
(A) m f4'4I'31Cfi (8) ~
(C) ~ (D) mm
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189. The machining which makes a cone 195. In gang milling
shaped recess at the top of a drilled (A) severaljobs can be performedinone
hole for a set up

(A) counter boring (B) one job is completed on several
millingmachine together

(B) die sinking (C) two or more cutters are mounted on
(C) counter sinking the arbor

(0) taper drilling (0) none of the above

196. In the tool designation, nose radius is
190. The operation of recovering the lost indicated

shape of grinding wheel is called (A) in the beginning
(A) trueing (B) dressing (B) at the end

(C) aligning (0) balancing (C) in the middle
(0) not indicated

191. Burnishing is an operation of
The first symbol in designation grinding197.

(A) heat treatment wheel is
(B) deep boring (A) Bond type

(C) mirror finishing (B) Abrasive type

(0) producing gears
(C) Grain size
(0) Structure

192. Tool signature comprises of 198. The most commonly used material for
according to British system. twist drills is

(A) 4 elements (B) 5 elements (A) low alloy carbon steel

(C) 6 elements (0) 7 elements (B) high speed steel
(C) carbon steel

193. The unit of a lathe which houses the (0) ceramic
lathe spindle and control lever for speed

199. The optimum point angle of twist drill
selection is called as for the work material is
(A) head stock (B) tail stock (A) 1080 (B) 1180

(C) feed box (0) carriage (C) 1200 (0) 1810

194. A reamer is used to correct the 200. Type of chuck used on surface grinders
are

(A) size and positionof drilled hole (A) 3 jaw chuck
(B) smoothness and roundnessof hole (B) magnetic chuck
(C) finish and size of a drilled hole (C) pneumatic chuck
(0) finish and depth of a drilled hole (0) hydraulic chuck
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189.

190.

191.

192.

193.

194.

~;f)Cfi{OI\llT~ qlt~Rd ~~~1R~
~ ~ ~ ~ ci\c::ItCfiIGRlOT ~

(A)~~

(B) ~~
(C)~~

(0) ~~

=(1~~~~=f~mfqf~

(A) ~ (B) ~
(C) fTrm: (0) •

cilf.f~IJI ~ ~ q\'tqI(1"i ~ I
(A) ~~

(B) ~ qlt~G"i
(C) ~ qltfl\NIl
(0) fTrm:3(tfIRd ~

~ >flJTTffi ~ ~ 3qCfi{OIm=m&n:
___ ~~mar~1
(A) 4~ (B) 5~
(C) 6~ (0) 7~

~~~~~~~~~
3fu: llftr ~ ~ 00 R~8td "Cfi«fTt

Cfit\(11(11~ I---
(A) ~~ (B) ~~
(C) 3WT(f ~ (0) ClWfi

~ {flJIf{Cfi @ CfiG ~ ~
~~~I
(A) qf{~Rd~~~3fu:~

(B) ~~ MCfi"ilq"i 3fu:~
(C) ~ ~fWr m eft qf{fI\NI1 3=th:

~
(0) ~ qf{JRd m eft qf{fI\NI1 3=th:

~

195.

196.

197.

198.

199.

200.

MKG-XXIXlTECHIMW/l T/OS

fjTr firfWrII
(A) ~~ll~cw:r PpsqlRd~~

~~
(B) ~firfWr~-ij~m~~cw:r~

m<rr~
(C) ~~1RGlm~cn<fCfiw~

~
(0) ~llB~~
3qCfj{OI~ll, ~~ -ij
~~~I
(A) 3Wl1

(B) 31(f

(C) ~
(0) ~~~~

~~~1lw.ll1~~
(A) ~"$ICfi'R
(B) ~"$ICfi'R
(C) Gftt~~
(0) m:q;rr

~ qlt~G"i ~~~~~
(A) f.:n:;r~~~~
(B) ~llRr~
(C) ~~
(0) ifRfttCfi

cw:r~~~~ qlt~G"i ~~
ffiG CfiTur ~

'"
(A) 1080 (B) 1180

(C) 1200 (0) 1810

~ ~ 1R~ 'qCfi.~"$ICfi'R~
(A) 3~'qCfi
(B) icil c:f});q'qCfi
(C) crrfuCfi'qCfi

(0) ~'qCfi
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IMPORTANT INSTRUCTIONS TO CANDIDATES
3uf\Geu{f~~q~~'fJi~

13. This booklet contains 40 pages. 13. ~ ~ ~ 40 ~ ~I

14. Directions : Each question or incomplete 14. ~ : ~ ~ ~ ~ ~ ~ ~ ~
statement is followed by four alternative 'C.fR ~ ~ ~ ~ ~ ~ ~ I ~ ~
suggested answers or completions. In each ~ ~ ~ Cbl ~ \ill ~
case, you are required to select the one that ~ ~ ~ ~ <fiT~t?1 ~

correctlyanswers the questionor completes the ~ ~ ~ Cbl~ "Cfit3ft\ ~ ~ ~ ~
statement and blacken (e) appropriate circle ~ lih.'1ICflI{~ A, B, C <ITD Cbl-;ftffi<ITqm;n
A, B, C or D by Blue / Black Ball-Point Pen ~-T.lfR ~ ~ qm;n (e) CflGT~ I (~atlft.ffi
against the question concerned in the Answer 3¥OifIGc:tHl ~ ~ ~1fO llTMlCFin ~ ;7T7T
Sheet. (For V.H. candidates corresponding I~~ ~".

circle will be blackened by the scribe) ~~~)

15. Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (e) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (e) more than one circle against
anyone question, the answer will be treated
as wrong.

17. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will. be treated as finall
authentic.

18. Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

19. You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

15. ~ ~ ~ mtH ~ <ff CfjfRl~iCfl'i ~ 3mT

~m I <ffCfir~~~~ Rl~ifcha ~ I

Rl~ifcha q:;f.r Cfjf~ otrcnr ~ ~ TJ"lIT ~ I

~~~~
~~~~

~Cbl31CRT ~ UlI"lttcfCfl~ fcr<m ~ ~
~CflGT~ I

16. ~~<fiT~~~~~~ I ~
~~ ~A, B, C<ITD~ Int1ICflI{~
Cblqm;n (e) CflGT~ I <rfu:3lfCf~ ~ ~ ~

~ ~ ~ Int1ICflI{ ~ Cbl ~ (e) m 3W1cf)f

~ 1R'Rf 1fRT~ I

17. <rfu:M~~~~ ~ ~~Cbl{

3TIR~m~~Cbl~~~~ I

18. ~cwf~~~~lf;f~~~~<fiT
m"Cfit 1~~lR~cwf~"Cfit I

19. ~~"*~~"3"i'R~~~~1

"3"i'R~"3"i'R ~-ij ~ ~I
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